
zh pzh % jegy
A0BTSU 23. 64 3
A3LBM2 20. 56 2
A7B779 13. 0 1
A8IIBM 16. 34. 91 5
B27DS4 8. 21. 55 2
B6HFVH 21. 59 2
B71PGE 0 1
BGVAP0 20. 56 2
BQ5O7C 26. 71 3
BW646W 4. 28. 76 3
CD2NZZ 21. 59 2
CGBS6A 8. 24. 62 2
CNMJJ7 24. 66 3
CRHX1N 0 1
CT7TCZ 20. 56 2
D05FWU 24. 66 3
D6VCBG 20. 56 2
DT0AS5 20. 56 2
DTNUVR 1. 20. 52 2
DTXJOJ 28. 80 4
E2ZQHD 22. 61 2
E5GK74 13. 0 1
E5JZPD 14. 23. 60 2
E6N8IL 21. 59 2
EAUYEE 20. 56 2
EINXZM 23. 64 3
ERX6ZY 20. 56 2
EX77IK 7. 10. 0 1
EX9X5A 26. 71 3
EXLB96 24. 66 3
F1WU6K 24. 66 3
FFF21M 21. 59 2
FSHR6A 5. 21. 55 2
G3GWZJ 22. 61 2
GC3VJ3 10. 31. 84 4
GKX5VM 21. 59 2
GLFAKX 21. 59 2
GO8WUV 7. 29. 79 4
GRHADB 0 1
GSF2YJ 21. 59 2
GXVTAX 30. 85 4
H5SSNQ 26. 71 3
HE8XRP 21. 59 2
HEDY49 14. 22. 57 2
HPYIUX 21. 59 2
HUWQ0S 23. 64 3
HV8JE5 0 1
HYQ78P 39. 108 5
I7YZB7 24. 66 3
I9C3NE 0 1
I9OKJN 2. 11. 0 1
IB1X5F 21. 59 2
IBRHM1 16. 20. 52 2
IPVILH 23. 64 3
IUZ5QA 0 1
IY2A23 0 1
J36IUD 20. 56 2

JCUUER 8. 20. 52 2
JJZCVP 1. 28. 76 3
JK8AEJ 20. 56 2
KC0P7W 20. 56 2
KFCXE4 0 1
KHJ95R 20. 56 2
KHR02T 20. 56 2
LBZWLI 0. 8. 0 1
LO98CD 21. 59 2
LPBM1F 14. 0 1
M0GUHU 16. 36. 96 5
MADD2F 0 1
MF2BHV 13. 0 1
MKI101 0 1
MPXCBT 20. 56 2
MR5FML 20. 56 2
MUXO66 20. 56 2
mvfhlh 25. 69 3

MVNMO3 0 1
O1QP6O 25. 69 3
OCET85 25. 69 3
OG60O2 14. 24. 62 2
OOR1EA 16. 24. 62 2
ORMG1A 13. 24. 62 2
OVVM6G 20. 56 2
PYQRDE 0. 29. 79 4
Q0C64U 30. 81 4
QHMM6B 20. 56 2
QSLDCZ 17. 27. 70 3
QY7SJ1 8. 26. 67 3
R8IMI1 30. 81 4
RAZ899 22. 61 2
RNL6EC 14. 32. 86 4
RNYYBH 11. 29. 79 4
S0MPCP 21. 59 2
T2XM4S 20. 56 2
TUK7KV 21. 59 2
UFETD9 20. 56 2
UFEXUE 8. 0 1
UO6GN4 13. 30. 81 4
URAUV5 9. 22. 57 2
UZO1UM 23. 60 2
V469YL 12. 24. 62 2
VIILJJ 11. 28. 76 3
VJ63J7 26. 71 3
VV50Y0 17. 29. 79 4
VYNVL6 4. 16. 0 1
WH94HQ 9. 26. 67 3
WI66HN 0 1
XIPU35 26. 71 3
YEA3G2 21. 59 2
Z89RFM 29. 83 4
Z9LSGI 21. 59 2
ZBAGSD 26. 71 3
ZNMPDN 26. 71 3
ZOZZ8R 21. 59 2

jegy:

%: 50-63, 2; 64-76, 3; 77-88, 4; 89-100, 5.

% = if max(zh,pzh)<20

then 0,

else

max(zh,pzh)*(100/40)

+(if zh>19 then 6 else (if pzh>19 then 2 else 0) )

+(if (zh>27 OR pzh>27 then 4 else 0)

end if GEMAN500ML Differencialegyenletek (Varga Peter, 2019)
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